B - 2%

PL(F)/WPL(F) 2B R ITEREN

—613—




PL(F)/WPL(F)%& 3% 17 BB iE

Notes of product ordering

AR AL A 1T 5 AR

PL/PF series

Precision Planetary Gear Boxes

Rotio/iE, % bk

Backlash/[E] #2 8] B&
Output torque/FE 46
Frame siza/#l & &

i=3:1~10,000:1

<3 arcmin

~1,800N.m
PL40/PF40~PL200/PF215

ordering code 1T 52X 75/8Y S #RiE ijt AR

PL(F)|| 90

L2

32

P2

S2

MOTOR

MODEL
RIMKS

SIZE
AIE
40, 60

80, 120,
140, 160
200

Ratio i
Li:
3. 4. 5,6, 8,10
La:
9, 12, 15, 16, 18
20, 24, 25, 30, 32
36, 40, 48, 64
La:

R Lk

60, 64, 72, 75, 80,

90, 100, 120, 144,

160, 160, 180. 200,
240, 2566. 288, 320.

384, 512, 600, 800

Backlash
B
Po: HRE®
Pi: %
Pz: R

Output type

B Y Ze 58U
S1: shaft 4@
S2: shaft withkey 2%
S3: splined shaft  fE&H
K1: Hollow shaft 7L

[ SMEEAKEEE )
K2: Hollow with key &7l
K3: SWpline hollow &L
T: Special require FAPHEER
OF 3: Case mounting
R A AL

OP 4: Foot mounting JEEESEET
Standard connection if no mark

THRE AR SR B LA = R

Input
Bil@RES
ST AR
i, MERS
i & AL 5
R+

WPL/WPF series

Precision Planetary Gear Boxes

& \

ordering code 1T 52X 78/8Y S #RiE ijt AR

L

Rotio/ig i bk

Backlash/[E] #2 8] B&
Output torque/§E4E
Frame size/fl B &

i=3:1~10,000:1

<5 arcmin

~1,800N.m
WPL/PF40 ~ WPL200/PF215

WPL(F)

90 -

64

P2 S2 MOTOR

MODEL
RIS

SIZE
AIE
40, 60

80, 120,
140, 160
200

Ratio i
Li:
3. 4, 5, 6, 8,10
La:
9, 12, 15, 16, 18
20, 24, 25, 30, 32
36. 40, 48, 64
La:
60, 64, 72, 75. 80,
90. 100, 120, 144,
150, 160, 180, 200,
240, 256, 288, 320,
384, 512, 600, 800

I Lk

Po: BWEH S1:
Pi: B® S3:
Pa: fRiE

Backlash

GL

Output type
B 2o 8t
shaft 34
S2: shaft with key H{iHh
splined shaft  FE&H
K1: Hollow shaft 37l
(SPEERKEE )
K2: Hollow with key &7l
K3: SWhpline hollow &7l
T: Special require FAPHEER
OP 3: Case mounting
T B A (R A
OP 4: Foot mounting JiE EE3E R
Standard connection if no mark

THRE AR SR B LA = R

Input
BilaREsS
EEmE AR
M, MERS
i 7 R 5 H
R+




PL(F)/WPL(F)Z% I #5217 2 BiE# @1;&:_

PL(F)/WPL(F) series presision planetary gear boxes torque
PL(F)/WPL(F) &5#5 %172 RIE NI IE

Type Stage PL 40| PL 50| PL 6O| PL 70| PL 80| PL 90| PL 120 PL 140| PL 160| PL 200

RS B PF 40| PF 50| PF 60| PF 70| PF 80| PF 90| PF 115| PF 130| PF 142| PF 215
WPL 40 | WPL 50 | WPL 60 | WPL70 | WPL 80 | WPL 90 | WPL 120 | WPL 140 | WPL 160 | WPL 200
Data tEfESE WPF 40 | WPF 50 | WPF60 | WPF70 | WPF 80 | WPF 90 [ WPF115| WPF130 | WPF142 | WPF215

8 10 18 22 40 50 125 210 400 1,050
18 20 40 45 260 450 800 1,780
16 18 36 41 230 400 700 1,600

22 26 125 260 550 1,000

15 18 120 210 450 950
12 15 70 130 210 305

18 22 210 400 1,050
40 45 450 800 1,780
36 41 400 700 1,600

40 45 450 800 1,780
40 45 450 800 1,000
36 41 400 700 1,780
36 41 260 700 1,600
40 45 450 800 1,600

22 22 260 550 1,780
36 41 400 700 1,600
22 22 260 650 1,000
20 25 230 450 700

15 18 210 450 1,000
40 45 450 800 1,780
40 45 450 800 1,780
40 45 450 800 1,780
36 41 400 700 1,600

Nominal output Torque Ten FREHIH AL

40 45 450 800 1,780
36 41 400 700 1,600
40 45 450 800 1,780
36 41 450 800 1,780

36 41 400 700 1,600
36 41 400 700 1,600
40 45 450 800 1,780
36 41 400 700 1,600
36 41 400 700 1,600

36 41 400 700 1,600
40 45 450 800 1,780
36 41 400 700 1,600
22 22 260 550 1,000

15 18 210 450 1,000

—615—




32

PL(F)/WPL(F)%& 3% 1T BB iE

PL(F)/WPL(F) presision planetary gear boxes technical data
PL(F)/WPL(F) &3l 21TEREN M BESH

Data taESEL

Type Stage/8 5 B #]

PL 40
PF 40
WPL 40
WPF 40

PL 50
PF 50
WPL 50
WPF 50

PL 60
PF 60
WPL 60
WPF 60

PL 70
PF 70
WPL 70 | WPL 80
WPF 70 | WPF 80

PL 80
PF 80

PL 90
PF 90

PL 120
PF 115
WPL 90 | WPL120
WPF 90 [ WPF 115

PL 140
PF 130
WPL 140
WPF 130

PL 160
PF 142
WPL 160
WPF 142

PL 200
PF 215
WPL 200
WPF215

Max.output torque
%:Hgfﬁﬂii@

MN.m

1.5times T2N

1.5FFEHsE

R e

MN.m

2times T2N

2fEFE R

Frmax.for 10.000h
[ EX AN F1)

N

160

400

450 1,240

Famax.for 10.000h
= KA H)

N

160

150

1,000

Torsional riRgidity
g

Nm
arcmin

0.7

0.7

11

Max.input speed
RARWNEE

rpm

10,000

10,000

6,000

Average input speed|
ﬁEﬁ)\iﬁé

rpm

4,500

4,500

Noise PS
= WPS

dB(A)

<56

<56

<60

<60

3 500

[ <55

— 68

Avera?ﬁe lifetime
FHFEF

h

Effeiency wuthfull load
e s ES

15 =96%

Po

P1

Pz

Po

&
=
Eﬁ
E
N
]
o
=
Q
3]
M

P1

=16

<16

<18

<18

=20

=20

Pz

arcminjarcmin|arcmin|arcmin|arcmin|arcmin| =

=22

=22

<26

=26

<30

=30

<14

=14

=14

Moment of inertia zhiEE

0.031

0.031

0.77

0.77

5.83

12.14

0.022

0.022

0.52

0.52 .79

3.21

7.78

0.019

0.019

0.45

0.45 .53

3.10

6.07

0.018

0.018

0.42

0.42 .40

2.85

5.24

0.017

0.017

0.39

0.39 .30

2.10

4.63

0.016

0.016

0.39

0.39 .28

1.95

4.60

0.015

0.015

0.72

0.72 .40

3.35

7.47

0.007

0.007

0.35

0.35 .60

2.73

6.95

0.007

0.007

0.25

0.25 .40

2.25

6.65

0.007

0.007

0.18

0.18 .40

2.25

5.81

0.005

0.005

0.18

0.18 .30

2.25

5.81

0.005

0.005

0.16

0.16 .30

2.25

5.28

0.015

0.015

0.28

0.28 .57

2.87

6.85

0.007

0.007

0.25

0.25 .38

2.25

6.10

0.007

0.007

0.25

0.25 .35

2.15

5.70

0.013

0.013

0.18

0.18 .35

2.10

5.55

0.005

0.005

0.18

0.18 .30

2.10

5.32

0.005

0.005

0.16

0.16 .30

2.10

5.21

0.005

0.005

0.16

0.18 .25

2.10

5.15

0.005

0.005

0.16

0.16 .20

2.10

5.15

PL(F)

L1

0.37

0.37

2.35

2.35 6.15

11.30

19.00

31

(]

0.45

0.45

2.70

2.70 8.00

13.50

24.00

La

0.55

0.55

3.20

3.20 10.00

15.80

29.00

WPL(F)

Weight &

L1

0.51

0.51

Tl

1.7 4.4

4.4 12

17

26.5

(]

0.61

0.61

1.9

1.9 5.0

5.0 14

19

29.6

42
50
50
61

La

0.71

0.71

2:1

2.1 5.5

5.5 16

21

32.6

70

{1)Ms ans: Allowing radial foree and axial fores that funetion inoulpul central place when oulput spead is 100 rpm.

{2)Tha weight of reducer in this book is approximation, the practical isdepand on the finished product.
(3)Tha mamant afinartia ralates to tha ratio, frama. input shaftand 1o standard motar shaft, ate.

—616—

(1T EWEHEH00mpm, EAFHEP TRz RiFEM0EMNS.

dEHNEEAERANANEHESHHEREN, TRERTHHE.
AFHMESEEL. AENASH. S ARESEIRETR, HAfEH
HEEEN.




PL(F)/WPL(F)Z 5 ¥ 17 2 B iE

£

328

PL40-PL200-0OP2 motor mounting dimensions

PL40-PL200-OP2 BB EE KX IME RER T

output i

L

Othershaft FAAALEFMAHHER

input $i % ¥R N
PL40-20047#

input $E{ER 4N
BEREX

£

Shaft St

S2 ‘ shaft with key 288 %

Sa |5p|inedshaft1’tﬁm

St | special shaft 4% %

e

B

F

According to customers

R RERBIME

Lo

output hollow | output shaft

Hollow M FLAMEREE)

hollow with key B2 7L

splined hollow 7E& M 7L

kt | special hollow $5BkFL

F

According to customers
AREXRHE

Type Stage
5B

Size/R~t

PL120

PL140

PL160

PL200

1]2]3

1/2]3

1]2]3

1]2]3

B1

8

10

12

14

C1

M10x22

M12x25

M12x25

M20 x 42

H1

16

18

28

35

43

53.5

D1

34

S

52

62

70

80

100

120

145

184

D2

M10x 16

M10x16

M12x20

M12x 22

D3

10

12

14

16

20

22

25

32

40

50

D4

12

15

17

20

25

25

35

40

60

110

D5

26

35

40

52

60

68

80

160

D7

40

50

60

70

80

90

205

output/i H i R~

L1

15

14

25

25

25

25

40

55

65

70

L2

2.5

2.5

2.5

3

5

5

5

6

7.5

7.5

L3

23

18

30

28

36

36

50

70

80

82

L4

26

24.5

35

35

40

46

55

75

87

90

L5

2

4

3

5

3

5

4

4

5

6

35| 53 |675

335495655

48] 69| 8

475]675]875

65 [86.51105

55 | 77| 101

74 | 1041345

85 [1233] 162

9 |1345/1735

137 |176.5] 216

A2

motor

R HE B

motor

HRIFEM

motor

HRAER

motor

HRHER L

motor

RIERA

B2

motor

R 4R R

motor

RIFEA

motor

HREE L

motor

RHE AL

motor

RIFRA

H2

motor

IRIE AL

motor

HRIFEA

motor

HRHE AL

motor

R AR R AL

motor

HRIFRA

D11

motor

HRAE A

motor

RIFEBEH

motor

RIEE

motor

RIE A

motor

RIEEH

D21

motor

R AR

motor

HRIFEM

motor

HRAER

motor

HRHE R

motor

HRIERM

D31

motor

R 48 B

motor

RIFEA

motor

HRE L

motor

RHEAB L

motor

RIFEA

D51

R B AR <t $#

Acording to motor

motor

R IE AL

motor

HRIFEA

motor

HRHE AL

motor

RIERN

motor

RIFRA

input'/&r N\ i R~

L41

motor

R AE A

motor

RIFEH

motor

RIEE

motor

RIBEH

motor

RIFEH

L51

motor

R HE B

motor

HRIFEM

motor

HRER

motor

RHE R

motor

HRIERH

L61

motor

R 4R B

motor

RIFEA

motor

HRHE R

motor

RHEB L

motor

RIEEA

(1)dimensions refer to the mounted motor-type,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

(EESHBSAEBIMBESHEX, TERTATUEER
(QxESHESEEBENADERERX, XERTATUFTEL

—617—




L@Qj} \ PL(F)/WPL(F)R 515 % 1T 2B

PF40-PF215-0P2 motor mounting dimensions
PF40-PF215-OP2 Bl BB KX ML LI R~

output i input i EIRHE N input SEE RV N
PF40-16047 ERER

D21

i
=

A1 _r 1
I NN

Other shaft F ATk A %) H 268
Shaft St S2 ‘ shaft with key 288 % |sp|inedshaft?€ﬁ$ﬂl St |specialshaﬂ=ﬁﬁm

According to customers
2l h i RREXRHIE

Hollow ¥ M FLEMERKEE) hollow with key B AL splined hollow f£8M7FL| kt | special hollow 4F%FL

(== _ __ V) According to customers
I AAE R

Type Stage PF60 | PF70 PF115 | PF130 | PF142 | PF215
S EBH

Size/R~F 1]2]3]1]2]3 1]2]3|1]2]3][1]2]|3]1][2]3
A1 60 75 120 145 175 215
B1 5 5 8 10 12 14
C1 M10x22 | M12x25 | M12x25 | M12x 42
H1 16 18 28 35 43 53.5
D1 50 60 70 85 130 160 185 235
D2 8.5 11 11 ®13.5
D3 10 12 14 16 20 22 25 32 40 50
D4 12 15 17 20 25 25 35 40 60 65
D5 26 45 50 50 80 85
D7 40 50 60 70 80 90
L1 15 14 25 25 25 25 40 55 65 70

L2 2.5 2.5 2.5 3 5 5 5 6 7.5 5
L3 23 18 30 28 36 36 50 70 80 B2

L4 26 24.5 35 35 40 46 55 75 87 90

L5 2 4 3 5 3 5 4 5 5 6

385 53 [67.5335]495]655] 48 [ 67 [ 86 [47.5]67.5]67.5] 65 [s6.5]t10s] 55 | 77 [ 101] 74 [ 104 ]1345] 85 [1285] 162 95 [1a45[1735] 137[176.5] 216
A2 motor | HRIFEH | motor | RI|EH | motor | IRIBEHL | motor | RIFEH | motor | RI|EM
B2 motor | RIFAEH | motor | RIWBHL | motor | RIBEHL | motor | WIFAEH | motor | RIBEMN
H2 motor | HRIEAHL | motor | RIBAH | motor | RIBEBHL | motor | WRIBEH | motor | RIBAEM
D11 motor | HRIFEBEH | motor | WIFEH | motor | RIBEHL | motor | MIEEHL | motor | RIFEM
D21 motor | RIFEH | motor | RI\AEHL | motor | RIBEEHL | motor | WIFEM | motor | RI|EMN
D31 motor | HRIFEMHL | motor | RIFEBHL | motor | RIWEHL | motor | RIEEHL | motor | RIBEM
D51 motor | HR#IEBHL | motor | WIFEHL | motor | RIBEHL | motor | MIEEHL | motor | RIFEM
L41 motor | HRIEEHL | motor | RIFEH | motor | RIBEHL | motor | MIEEH | motor | RIFEM
L51 motor | HRIFEHL | motor | RIFEBHL | motor | RIWEHL | motor | RIEEHL | motor | RIBEM
L61 motor | HRIFEBHL | motor | WIFEHL | motor | RIBEHL | motor | MIEEH | motor | RIFEM

(1)dimensions refer to the mounted motor—type,the size can be changed (1)XELHMSFRBNMNESHX, XERTAUEEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2L EHENMAMEREX, XERTATUIEEL

£

Lo

output hollow | output shaft

output/&i H i R ~t

input'/8 N\ % R~
RIE LR~ #l

Acording to motor

—618—




PL(F)/WPL(F)% 31 ¥ %17 2w iE#l / M‘Eﬁc

PL40-PL200-0OP2 motor mounting dimensions
PL40-PL200-OP2 EE# Bk R KX IME L FE R T

output i H input i E IR AN input 2 RN
WPL40-2004F i# HERER

Other shaft F ATk A %) H 268
S1 | Shaft St S2 ‘shaftwithkeyiﬁﬁ |sp|inedshaft?€ﬁ$ﬂl St |specialshaﬂ=ﬁﬁm

: 3 According to customers
3 ; { el AAERHIE

Hollow M FLAMEKEE) hollow with key B2 AL splined hollow #&##M7L| kt | special hollow 457 FL

f. .. = According to customers
r= _ T RPERSIE

Type S.:‘.age WPL120 | WPL140 | WPL160 | WPL200
S BH

Size/R~F 1]2]3|1]2]3]1]2]|3]1][2]3
B1 8 10 12 14

C1 M10x22 | M12x25 | M12x25 | M20x 42
H1 16 28 35 43 53.5
D1 34 44 52 70 80 100 120 145 184
D2 M10x16 | M10x16 | M12x20 | M12x 22
D3 10 12 14 20 22 25 32 40 50
D4 12 15 17 25 25 35 45 55 110
D5 26 35 40 60 68 80 160
D7 40 50 60 80 90 205
L1 16 14 25 25 25 40 55 65 70

L2 2.5 2.5 25 5 5 5 6 8 7.5
L3 23 18 30 36 36 50 70 80 82

L4 26 24.5 35 40 46 55 75 85 90

L5 2 4 3 3 5 4 5 5 6
38.5| 53 |67.5(335(49.5]655] 48 | 67 | 86 [47.5]67.5[675] 65 |86.5]1105] 55 | 77 | 101{ 74 | 104 [1345] 85 [1235[ 162 95 [134.5]1735] 137 |176.5] 216
L8 49 49 75 75 103.6 103.6 125.5 140 151.2 205
A2 motor | HRIFEH | motor | RI|EH | motor | IRIBEHL | motor | RIFEH | motor | RI|EM
B2 motor | RIFAEH | motor | RI\BHL | motor | RIBEHL | motor | WRIFAEH | motor | RIBFEM
H2 motor | HRIEAHL | motor | RIBAH | motor | RIBEBHL | motor | RIBEH | motor | RIBAEM
D11 motor | HRIFEBEH | motor | WIFEH | motor | RIBEHL | motor | MIEEH | motor | RIFEM
D21 motor | RIFEH | motor | RI\AEH | motor | RIBEHL | motor | WIFEM | motor | RIFEMN
D31 motor | HRIFEHL | motor | RIFEBHL | motor | RIWEHL | motor | RIEEHL | motor | RIBEM
D51 motor | HR#IFEEBHL | motor | WIFEHL | motor | RIBEHL | motor | MIEEH | motor | RIFEM
L31 motor | HRIEEHL | motor | RIFEH | motor | RIEEHL | motor | MIEEH | motor | RIFEM
L51 motor | HRIFEHL | motor | RIFEBHL | motor | RIWEHL | motor | RIEEHL | motor | RIBEM
L61 motor | HRIFEBHL | motor | WIFEH | motor | RIBEHL | motor | MIEEH | motor | RIFEM

(1)dimensions refer to the mounted motor-type,the size can be changed (1)XELHMEFRBNMNESHX, XERTAUEEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2L EHENMAMENEX, XERTAUEEL

£

Lo

output hollow | output shaft

output/§ H i R ~F

R BALR <t $#

Acording to motor

input' /& N\ i R~

—619—




L@'ﬂii@- \ PL(F)/WPL(F)R 51§ % 1T 2B

WPF40-PF215-0P2 motor mounting dimensions
WPF40-WPF215-0OP2 Bl Bx#E B X IM LI R~

output i H input i EIRHE N input SEE RV N
PF40-16047 EBERER

- ot

Other shaft F ATk A %) H 268
Shaft St S2 ‘shaftwithkeyiﬁﬁ Ss3 |sp|inedshaft?€ﬁ$ﬂl St |specialshaﬂ=ﬁﬁm

: According to customers
3! | ' i RAREXRHE

Hollow A FLAMEKEE) hollow with key B AL splined hollow &8 M7L| kt | special hollow 457 FL

(== _ __ ) e According to customers
I AAE R

£

Lo

output hollow | output shaft

Typesctlaig;m WPF60 | WPF70 WPF115 | WPF130 | WPF142 | WPF215
=

Size/R 1]2]3]1]2]3 1]2]3]1[2]3]|1]2][3][1]2]|3]1][2]3

A1 60 75 95 120 145 175 215
B1 5 5 6 8 10 12 14

C1 M10x22 | M12x25 | M12x25 | M20x 42
H1 16 18 28 35 43 53.5
D1 50 60 70 85 130 160 185 235
D2 ®6.5 8.5 11 11 13.5
D3 10 12 14 16 20 22 25 32 40 50
D4 12 15 17 20 25 25 35 40 60 65
D5 26 45 50 50 80 85
D7 40 50 60 70 80 90
L1 15 14 25 25 25 25 40 55 65 70

L2 25 2.5 2.5 3 5 5 5 6 8 75

L3 23 18 30 28 36 36 50 70 80 B2

L4 26 24.5 35 35 40 46 55 75 87 90

L5 2 4 3 5 3 5 4 5 5 6

385 53 [67.5335]495]655] 48 [ 67 [ 86 [47.5]67.5]67.5] 65 [s6.5]t10s] 55 | 77 [ 101] 74 [ 104 ]1345] 85 [1285] 162 95 [1a45[1735] 137[176.5] 216
A2 motor | RIFEH | motor | RI|EH | motor | RIBEHL | motor | RIFEH | motor | RI|EM
B2 motor | RIFAEH | motor | RIWBHL | motor | RIBEHL | motor | WIFAEH | motor | RIBFEM
H2 motor | RIEAEHL | motor | RIBAH | motor | RIBEBHL | motor | RIBEH | motor | RIBAEM
D11 motor | HRIFEBEH | motor | WIFEHL | motor | RIBEH | motor | MIEEH | motor | RIFEM
D21 motor | RIFEH | motor | RI\EH | motor | RIEEHL | motor | WIFEM | motor | RIBEM
D31 motor | HRIFEHL | motor | RIFEBHL | motor | RIEEHL | motor | RIEEHL | motor | RIBEM
D51 motor | HRIFEEBHL | motor | WIFEHL | motor | RIBEH | motor | MIEEH | motor | RIFEM
L41 motor | HRIEEHL | motor | RIFEH | motor | RIBEHL | motor | MIEEH | motor | RIFEM
L51 motor | HRIFEHL | motor | RIFEBHL | motor | RIWEHL | motor | RIEEHL | motor | RIBEM
L61 motor | HRIFEBHL | motor | WIFEH | motor | RIBEH | motor | MIEEH | motor | RIFEM

(1)dimensions refer to the mounted motor-type,the size can be changed (1)XELHMEFRBNMNESHX, XERTAUEEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2L EHENMAMENEX, XERTAUEEL

output/i H i R ~F

input'/8 N % R~
RIE LR~ #I

Acording to motor

—620—




	613
	614
	615
	616
	617
	618
	619
	620

